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The periodicity assumption states that (A)a transaction can only affect one period of time. (B)

P2-1

estimates should not be made if a transaction affects more than one period of time.(C)the

economic life of a business can be divided into artificial time period.(D) none of the above.
Which of following would be classified as an extraordinary gain or loss in the financial

] R AR
into common stock (D) all of the above.

statements? (A) loss from routine sale of used machine (B) a material loss from the early
redemption of serial bonds (C) a material loss from conversion of convertible preferred stock

The journal entries for a bank reconciliation (A)are taken from the “balance per bank” section
only. (B)may include a debit to Service Charge Expense for bank service charges. (C) may
include a credit to Accounts Receivable for NSF check. (D) none of above.

An analysis of aging of the account receivable of AA Corp. at Dec.31is as follows:
Accounts Receivable $900,000
Allowance for Doubtful Accounts per book before adjustment
Amounts expected to become uncollectible

50,000
64,000
The net realizable value of the accounts receivable at Dec. 3 1,after adjustment, is
(A)$886,000 (B)$850,000 (C)$836,000 (D) none of above.

When the market interest rate for a bond is lower than the stated interest rate, the bond will
sell at (A)a discount (B)a premium (C)face value (D) none of above.

rREENE] 91 453 93 AE BB THI@EHoER -

91 fFJEK

BETENEAR _IESTERUIRA IREITEM A EHTEE
$1000 $ 1,200 $500
92 fE[EE 2,100 2,800 500
93 £EJEE 1,200 600 1.100
SABPEENT] 93 FEIEFERANFRIES10,000 - H 93 FEREIPFIMES (A)8$5,300
(B)$11,900 (C)$10,900 (D) DA E4IE -

500
7 BRI ER$1,200 » EEIEEEIRSS00 - IEIEHEREIRS300 - FE FAHES

IS 80,000 - HREMIRFKFE$210,000 - (EREXREFE SMEREMAGHHIRE R » HIRE 1%
HISRIRER FRIA 7 (A)$1,400(B)2,100(C)600(D) LA EEIE -

8. FAEIN 86 SERNLLS TR T2 A S BT RK(E$300,000053 ZHASZ ) - B1£:1E$269,000

IR B BIRERC AR (A)$300,000 (B)$269,000(C)$100,000 (D)LA_EEEFE -
IFHIATIN 85 6 B 1 BLUFRES36 BEE 6,000 i » SAYHZES BB » 86

7 B 1 HLAERES40 ¥ LR 1,000 % > 86 ££ 9 B 1 HUUEHYS$30 ot Esg;
(CYRHZ285$18,000 (D)LA_F253E -

R 3,000 2 FEFRATE T 086 42 9 B 1 HEEMEEL(A)E AL TES4,000 (BYE A 1H$18,000

10. 57/ H] 91 FEFEFE/ME @’ 2,000 B > 92 FHIRRAFIRAT 1,000 B v #ss5IR% -
st

XTI BRI 1,000 BEEM - 92 SEN BRI » 92 FRAAFE SR E &R
BRI BRI F558,000 © F5REANE].92 R £836,000 - FR3R 25% -+ Rl 92 4EAGHE
BEREERRSD ? (A)$14 (B)$12(C)$9.3(D) LA L&FE -



AEABATZRE AR BB LS

_ B\ # W # B 2R &5 & g
] 31 — £ (& % 2 #) FHXBH | HR
A = = : : -2
EHENER H = s Erst TA198 |13.30I—-14 50 P2

Z.Presented below is the comparative balance sheet for Melody Company .
Melody Company
Comparative Balance Sheet
December 31,1993 &1992

1993 1992

Cash $ 40,000 $ 57,000
Accounts receivable 77,000 64,000
Inventory 132,000 140,000
Prepaid expenses , 12,140 16,540
Land ' 125,000 150,000
Equipment 200,000 175,000
Accumulated depreciation- equipment (60,000) (42,000)
Building 250,000 250,000
Accumulated depreciation—building (75.000) (50.000)

| 701,14 $760,540
Accounts payable $ 33,000 $ 45,000
Bonds payable 235,000 265,000
Cormmon stock, $1 par 280,000 250,000
Retained earnings 153,140 200,540

$701.140 $760.540

Additional information:

(1)Operating expenses include depreciation expense . (2)Land was sold of cash at cost.

(3)Cash dividends were all paid. (4)Net income for 1993 was $26,890.

(5)Equipment costing $40,000 with a book value of $13,000 was sold for $15,000 cash. In
addition, new equipment was purchased for cash.

(6)Bonds were converted at face value by issuing 30,000 shares of $1 par value common stock.

Instructions:

Prepare a statement of cash flows for 1993 using the indirect method. (22%)
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